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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are the main characteristics of underdeveloped 

economy ? Point out the main obstacles to economic 

development in these economies. 

vYifodflr vFkZO;oLFkk dh eq[; fo’ks”krk,¡ D;k gSa \ ,slh 

vFkZO;oLFkkvksa ds vkfFkZd fodkl dh eq[; ck/kk,¡ crkb,A 

2. Evaluate the validity of principal tenets of classical 

theory of economic growth in the context of 

developing economies.  

vkfFkZd laòf) ds izfrf”Br fl)kUr ds eq[; vaxksa dh 

O;kogkfjd egŸkk dks fodkl’khy vFkZO;oLFkkvksa ds lanHkZ esa 

ewY;kafdr dhft,A 

3. “Capital formation is the greatest problem of 

underdeveloped countries.” Do you agree ? Give 

arguments. 

ßiw¡th&fuekZ.k vYifodflr ns’kksa dh lcls cM+h leL;k gSAÞ 

D;k vki lger gSa \ rdZ nhft,A 

4. Explain the origin and growth of economic  

planning. 

vkfFkZd fu;kstu ds mn~xe ,oa fodkl dk o.kZu dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Indicators of Economic Development. 

vkfFkZd fodkl ds vfHklwpdA 

2. Harvey Leibenstein‟s critical minimum effort thesis. 

gkosZ yhfcULVhu dk vko’;d U;wure iz;kl fl)kUrA 

3. Role of Human Resources in Economic Development. 

vkfFkZd fodkl esa ekuo lalk/kuksa dk ;ksxnkuA 

4. Distinguish between Inventions and Innovations. 

vkfo”dkj vkSj uoizorZu esa Hksn dhft,A 

5. “Vicious circle of Poverty”. 

ßxjhch dk nq”pØÞA 

6. Role of Agriculture in Indian Economy. 

Hkkjrh; vFkZO;oLFkk esa d`f”k dh HkwfedkA 

7. Write a short note on “Balanced Growth”. 

ßlarqfyr fodklÞ ij laf{kIr fVIi.kh fyf[k,A 

8. Write a short note on „Domar‟s Growth model‟. 

^Mksej ds fodkl ekWMy* ij laf{kIr fVIi.kh fyf[k,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. Which five year plan aimed at the „removal of poverty‟ 

and attainment of self reliance ? 

(a) Second 

(b) Third 

(c) Fourth 

(d) Fifth 

dkSu&lh iapo”khZ; ;kstuk ds mís’; Fks ^xjhch dks nwj djuk* 

vkSj vkfFkZd vkRe&fuHkZjrk izkIr djuk \ 

¼v½ nwljh 

¼c½ rhljh 

¼l½ pkSFkh 

¼n½ ik¡poha 

2. Which is non-economic factor of Economic 

Development ? 

(a) Natural Resources 

(b) Capital Accumulation 

(c) Technological Progress 

(d) Efficient Administration 
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vkfFkZd fodkl dk xSj&vkfFkZd rRo dkSu lk gS \ 

¼v½ izkd`frd lk/ku 

¼c½ iw¡th lap; 

¼l½ rduhdh izxfr 

¼n½ dq’ky iz’kklu 

3. Human Development Index (HDI) does not include : 

(a) Life Expectancy Index 

(b) Education Index 

(c) Poverty Index 

(d) GDP Index 

ekuo fodkl lwpdkad esa lfEeyr ugha gksrk % 

¼v½ thou izR;k’kk lwpdkad 

¼c½ f’k{kk lwpdkad 

¼l½ fu/kZurk lwpdkad 

¼n½ th- Mh- ih- lwpdkad 

4. Who gave critical minimum effort thesis ? 

(a) Leibenstein 

(b) Nurkse 

(c) Ricardo 

(d) Marx 

vko’;dr U;wure iz;kl fl)kUr fdlus fn;k \ 

¼v½ yhfcULVhu 

¼c½ uDlsZ 

¼l½ fjdkMksZ 

¼n½ ekDlZ 
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5. According to Harrod model :  

(a) 
S

G
C

w
r

  

(b) 
C

G
S
r

w   

(c) G I.Cw r   

(d) None of the above 

gSjksM ds ekWMy ds vuqlkj % 

¼v½ 
S

G
C

w
r

 

¼c½ 
C

G
S
r

w  

¼l½ G I.Cw r  

¼n½ mi;qZDr esa ls dksbZ ugha 

6. Input-output Analysis was propounded by : 

(a) Hicks 

(b) Solow 

(c) Leontief 

(d) Marx 

vknk&iznk fo’ys”k.k dk izfriknu fdlus fd;k \ 

¼v½ fgDl 

¼c½ lksyks 

¼l½ fy;ksUVhQ 

¼n½ ekDlZ 
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7. Census in India is being held regularly after every 

......... years. 

(a) 5 

(b) 10 

(c) 8 

(d) None of these 

Hkkjr esa tux.kuk gj 
---------------

 o”kZ ckn dh tkrh gSA 

¼v½ 5 

¼c½ 10 

¼l½ 8 

¼n½ buesa ls dksbZ ugha 

8. Who is the father of Economics ? 

(a) Marshall 

(b) Adam Smith 

(c) Ricardo 

(d) Jacob Viner 

vFkZ’kkL= ds tud dkSu gSa \ 

¼v½ ek’kZy 

¼c½ ,Me fLeFk 

¼l½ fjdkMksZ 

¼n½ tSdc okbuj 

9. Agriculture sector  is characterised by : 

(a) Disguised unemployment 

(b) Seasonal unemployment 

(c) Both of the above  

(d) None of these 
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d`f”k {ks= dh fo’ks”krk gS % 

¼v½ vn`’; csjkstxkjh 

¼c½ ekSleh csjkstxkjh 

¼l½ mi;qZDr nksuksa 

¼n½ buesa ls dksbZ ugha 

10. „Vicious Circle of Poverty‟ was given by : 

(a) Rostow 

(b) Nurkse 

(c) Smith 

(d) Marshall 

^xjhch dk nq”pØ* fdlus fn;k \ 

¼v½ jksLVkso 

¼c½ uDlsZ 

¼l½ fLeFk 

¼n½ ek’kZy 
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